Problem 1
W Bl b e prhele y oo (0, TR

T = LLeos(4), smie), £) = (0,1, Tp)
S k=T
Now, Hhe welouby vechs v guun by
T =T = {-Lsm(y), coslh),

ond ot F=Th:
"\7("%\—- £-1,0,1

et st qeb e dononf e ay:
LA = 0,1, >+ 420,

Problem 2
M V=484, My i ‘3’—46, =t 3 yaxt 5,



v

W) VA= ) = 3 ) 5o R[o)=D

© The (e chold hawe & -lqujw ok f=o, ay F(=<9 0
15 M oNYln ad by Yhe Plofw-t hes Jawgw/ lne  which
n Oivtan ] e X-axy Y=o .

B Tare §=€3 Ton F(D245,58> and thy g judn
PH=<1,2)  and  Fle)=4),0) .
e Yy ivey fongent  line:
Z(‘L): Z.OI°7‘1 %<'I°> = 4{‘{")

™ expec bed.



Proklem 3

(“) e ”F("))ll:O Mo IT (O] v conslnt  and
M Y Wsm}wln st ponhan  shys (awshuut.  Hne e
AFWJ‘LLL g o0 M arle o vadws  JJ7LAL

B F [Tl fe TS e b b
Vechr hay  Yew Wtaﬂm‘uk As 7‘,(4’) =% thy IMPIMJ that
V‘U) D (St  Snee 0 ‘W,/»u/j 5 zem, ic, it
dogsi}  ymov,

Droblem 4

The  comd thm 7"({')-0‘0,0) >o  Wems fwt v a4l
£, P maby an acek amgle wth  the vechr 41,00
To  the '\/Clotﬁ’j of i pont 1f ale slanted ot least
n Mk towad  Hhe fosn‘)uc X - axis.

e b starks sk e ongm, ke clide wth (20p)
M"‘M YU}\MW‘L b o omoe o th 0}0‘“( diee fum ot
M‘t mqh Vi Y-Ax () which L posmol(.



Povlem B

Reprameteisations  can  only change Mo maguide o
W&[mfj Vechos bk nob P direchion. & v/ (o), amd
7‘;(0\ are Parrallc( anl o Vz.'(o)x'\;;(o):o.



